Pre-Calculus 12 Name

t}.z ~ Reflecting Graphs of Functions Block

Consider the graph of y= Jx . Label 3 different

coordinates.

a} Replace “x” with “—x”and re-graph.
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b} Replace “y” with “~y”and re-graph.
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Result (of graph): vertical reflection fn x-aX (S B
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In General:

If you replace x with -x, If you replace y with -y,

y = f(-x) Y= y=tbo| =1

there is a vertical reflection

there is a horizontal reflection
in the x - axis.

in the y — axis.

Example #1: Here is the graph of y = g(x). On the same grid, also graph:
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Example #2: If the point y =(4,-2) is on the graph of y=g(x}, find the corresponding pointon
the graph of:

a) y=-g(x) ) (o)
Gereral odnd novi Zondall

= YAl cndingl

[ ———— —
i

) 53

Homework: p-383-#3-13~ .21\ & 2-1)






